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1 50| 413 57.6 1.9 9.5 4.6 1.1 7.7 0.6 29 - - - - - - - - - - -| #%5 10.0 - = - - - -
2 7.8 ] 32.0 79.6 1.6 8.2 6.3 1.7 1.7 0.4 2.2 - - - - - - - - - - -| #%F 15.6 - - - - - -
3 74| 36.0 79.5 1.7 8.7 6.3 1.1 7.7 04 2.2 - - - - - - - - - - -| %5 14.8 - - - - - -
4 7.2 | 32.7 76.3 1.6 83 6.1 1.7 1.7 0.4 2.3 - - - - - - - - - - -| #%F 144 - - - - - -
5 6.0 | 315 66.1 1.6 8.1 53 117 7.7 0.5 25 - - - - - - = - - - -| %5 12.0 - - - - - -
6 6.5 | 36.1 72.5 1.7 8.7 5.8 1.7 1.7 0.5 2.4 - - - - - - - - - - -| #%F 13.0 - - - - - -
7 50| 31.7 58.0 1.6 8.1 4.6 117 7.7 0.6 2.8 - - - - - - = - = - -| %5 10.0 - = - - - -
8 6.7 | 30.0 69.5 1.6 79 5.6 1.7 1.7 0.5 2.4 - - - - - - - - - - -| #F 134 - - - - - -
9 8.1 433 80.8 1.9 9.7 6.4 1.1 7.7 04 2.2 - - - - - - = - - - -| #%5 16.2 - - - - - -
10 8.2 | 42.7 82.2 1.9 9.7 6.5 1.7 1.7 0.4 2.2 - - - - - - - - - - -| #%F 16.4 - - - - - -
1 6.9 | 434 71.8 1.9 9.8 5.7 1.1 7.7 0.5 24 - - - - - - = - - - -| #%5 13.8 - = - - - -
12 50| 434 55.9 1.9 9.7 4.5 1.7 1.7 0.6 3.0 - - - - - - - - - - -| #%F 10.0 - - - - - -
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